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Assume any missing data suitably.
Explain the role of Hydrology in Engineering.

What are the methods that are commonly used .to ultimate average precipitation in a
catchment ?

Write a note on flood control works.
Distinguish between levels and flood bank.
What are the advantages of lift irrigation ?
Explain the function of silt extractor. -
What are the role of beam in a canal ?
What are the 'a-dvantages of Lining ? : .
_ (8 x 5 = 40 marks)
(a) - Explain convective precipitation. .
(b) What do you understand by double Man Curve.

(c). Rainfall data for 5 stations are shown- below. If the error is to be 11m1ted to 8%, find the
additional rain gauges required.

Station A B C | D E
Rainfall (mm) | 100 125 150 75 50

(8 x 5 =15 marks)
Or

(a) Draw a neat diagram of flood hydrograph and mark rising limb, Peak Inflexion font
and Recision Limb.

(b) Ordinates of 3 HR unit hydrograph are given below .

Derive the ordinates of 6 HR OH : ;
| Time (HR) 0| 3| 6| 9121518 [21 |22
Ordinates of d=.
3 HR OH 0 15| 56| 9.2|150/105|5.6 23 |12
cume cs

(5 + 10 = 15 marks)
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‘What are the benefits of Irrigation ?
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Define Standard project ﬂoad and return penod

Fmd the values of C and n in a eatchment using flood formula Q=CA" wﬂ:h the
foilowmg data : '

ARm?) 5 10 40 100 '250
Q (cumeec) 125 200 400 500 800 _
_. : {5 % 10 = 15 marks)}
N ' - Or . . |
What are the objectives of River training works.
Explain any one metliod’o_f. flood control. -
How do you select the site for a reservoir 7

(3 x 5 = 15 farks)

Define Duty and Delta.
Explain Khorlas Theory.
' : Or

What are the different crop seasons in India ?

What are the advantage of sprinkle irrigation ?

Wlth a neat sketch explain the functions of Divide wall and fish ladder.

(3 x 5 15 marks)

What are the ﬁmctlons free board in an irrigation canal How do you fix free board ?
Compare Kennedy and Lacey regime theory.
Or
What are the dmadvantages of waterloggmg ? How do you prevent water loggmg 2
An ungatlon canal has to carry a discharge of 1.5 cumecs. Assummg n = 0023 and
D 6 0, Demgn Imgahon canal. '
(5 +10= 15 marks)
[4x 15 = 60 marks]



